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1.

2.

Graph:

3.

Which graph shows the solution to
X+2<12?
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Which graph shows the solution of
X+6 > 07?

Gl
-12-9 6 3 0 3 6 9 12

5X+5 > 3(x-2)

[A]d_io::::gszzzz(:)::::g::::lzob
[B]ws::::(:)::::g::::l:ob
[C] _iozzzz:5::::(:)::::g::::110>
[D]d_io::::_:szzzz(:)::::g::::lzob

-10 =5 0 5 10

-10 =5 0 5 10

NAME:

5. 5x=2 > 3(x-1)

[A]diozzzzzszzz 0::::;::::110
[B] _101111_:5::::(:)::::g::::lzob
[C]d_io::::_:s:::m()::::g::::l:ob
[D]diozzzz_:szzz:(:)::::g::::llo
X<2orx <-5

[A]<fi()HH15}1}1(})1$::§::::110>
[B]<7i():::::5::::(:):m}g}}}}1}0>
[C] 7{()::::705::::(:)::::;:::1:0
[D]ﬁ::::(:)::::gwwllo
X>8orx >4

[A]d_iouuis:::(:)::::g::::lzob
[B]d_iozzzz_zszzz:(:)::::g::@:liob
[C]d_iouu_:sui:(:)::Hg::@:lzob
[D]W:H(:):H:g:u:l:ob
. X<-8orx<-4

[A]d_io::::_:so:::(:)::::g::::lzob
[B] _10311_:5::::(:)::::g::::l:ob
[C]Q_-mlll(l)llllgllllllob
[D]d_io‘@::_:szzz:(:)::::g::::lzob
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9. Solve the inequality and graph the solution on a number line. %X > 6

[A] x<1.3
—— >
‘ -30 20 -10 O 10 20 30
[B] x>27
4——————cm
-30 20 —-10 O 10 20 30 >
[C] x>1.3
30 20 10 0 10 20 30 >
[D] x <27
< >

30 20 -10 0 10 20 30

10. Solve the inequality and graph the solution on a number line. %x <9

[A] X £ 4.5
——————)———————>
‘ -30 20 -10 O 10 20 30
[B] x > 18
< : - Q——
-30 20 -10 O 10 20 30
[C] x> 4.5
44— :
-30 20 -10 O 10 20 30 >
[D] x < 18
< ® >

30 20 -10 0 10 20 30
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[1] B

2] D

3] D

[4] A

[5] B

[6] B

[71 A

[8] C

91 B

[10] D




